N = 0l & AF & F Al A

2N SsTASE
H: UGS IANEFA(ZELX SENE/=XH)
@ St EUIANE =T CEREED
_ _ _ AT
2N -3 - c2(3H) - NEME - HES Ol &F2H ‘Oﬂ/i\_Fo” Hns
SHSs2AHE 3,535,064 70,000 3,465,064
= 2,669,280
= 865,784
SSLACIIMEFE(2ELRSE L /=XHA) 3,513,564 49,000 3,464,564
= 2,669,280
< 844,284
ot EBIAIE =& 43,500 32,000 11,500
ol EHIAIE =& A H| 43,500 32,000 11,500
201 B2 | 7,000 7,000 0
01 AtR22t2ldl 7,000 7,000 0
JYet=EZH| 7,000
QY =UoIMEHIAIL BN T ROES 7,000
202 44| 31,500 20,000 11,500
01 2LHH bl 31,500 20,000 11,500
O s2ol & EHIAIE =& 0] 31,500
203 PR FZIH| 5,000 5,000 0
03 Al Z=RH R FZY| 5,000 5,000 0
(U SAAMZIAMLAR R 5,000
CIESESINEL T 3,405,064 0 3,405,064
= 2,619,280
o= 785,784
ot&E 7 X2 2l AL 3,405,064 0 3,405,064
= 2,619,280
= 785,784
308 N XIEHXH S 01 ™ 3,405,064 0 3,405,064
= 2,619,280
& 785,784
01 AXSHHIANELZ2 3,405,064 0 3,405,064
Lot S22l AFS 3,405,064
= 2,619,280
= 785,784
ot& & A A 65,000 0 65,000
= 50,000
= 15,000
St EHF FHIAS 65,000 0 65,000
= 50,000
= 15,000
308 AR SO0l H 65,000 0 65,000
= 50,000
= 15,000
01 AXESHHIANELZ 65,000 0 65,000
[Jot& S Z ZHIALS 65,000
= 50,000
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